1
Medical experts have helped spread the message in recent years that Omega 3 fatty acids that are found in what are called ‘oily’ fish (such as herring and tuna), and also in walnuts, soyabeans, and flaxseed are good for our health. Unfortunately, however, ‘oily’ fish are prone to building up harmful chemicals such as mercury in their flesh. The concentration of these chemicals in the sea has actually increased over the years due to increased pollution. Concern about this concentration of harmful chemicals has led to advice that vulnerable groups such as pregnant women should avoid ‘oily’ fish.

Which of the following is a conclusion that can be drawn from the above passage? 
A
Pregnant women should avoid eating only ‘oily’ fish.

B 
All fish contain harmful chemicals such as mercury.

C 
People who eat ‘oily’ fish will damage their health.

D 
The main source of Omega 3 fatty acids is ‘oily’ fish.

E 
Vulnerable groups would benefit from eating walnuts, soyabeans and flaxseed.
2 
A recent study suggested that early-morning exercise is bad for one’s health. A sample of people who swam regularly at 6 a.m. in the morning was compared to a sample who swam in the evening. It was found that the morning sample was much more prone to infection as their immune systems were deficient due to low levels of cortisone in the body as a result of waking early. Therefore, it is not a good idea to take exercise before the evening.

Which of the following, if true, would most weaken the above argument?

A 
Swimming pools are rather unhygienic and likely to cause infections.

B 
Cortisone levels are fully restored by 8 a.m. in the morning.

C 
Other forms of morning exercise also make people more infection-prone.

D 
The health-giving advantages of exercise outweigh the infection risk.

E 
Cortisone level is only one of many factors affecting the immune system.

3 
People often object to proposals to create reservoirs in scenic areas on the grounds that they detract from the beauty of the landscape. Such objections are misguided, however. A reservoir is simply a lake. Given that people travel in their thousands to view lakes, most notably in the Lake District, then we should welcome a new reservoir as enhancement to the scenic beauty of an area.

Which of the following is an underlying assumption of the above argument?

A 
A landscape without a lake cannot be beautiful.

B 
The only reason to visit a lake is to appreciate its beauty

C 
Reservoirs are as attractive as natural lakes.

D 
The only objection to reservoirs is that they detract from natural beauty.

E 
There is a need to build many new reservoirs in areas of natural beauty.

4 
People are often unsure of the difference between an art and a craft. The product of a craftsman’s skill is intended to be used; the artist, on the other hand, employs their skills to create something that is purely to be experienced and contemplated. For example, the bowls and jugs of the potter Bernard Leach are displayed in exhibitions of his work and are works of art because they are not intended to be used. Most potters, however, are craftsmen rather than artists as their bowls and jugs are bought by people to be used on the table and in the kitchen.

Which of the following is a conclusion that can be drawn from the above passage?

A 
Artists are more skilled than craft workers.

B 
The products of the skill of a craftsman are always used.

C 
Art is a superior creative activity to craft.

D 
An object cannot be both a craft product and a work of art.

E 
Nobody can be both an artist and a craft worker.

5 
A recent study suggested that vitamin supplements in one’s diet do not have the effect of decreasing the risk of heart disease and stroke, as some people have hoped. The study compared two groups of patients with a history of heart disease and stroke. One group was given vitamin supplements over several years and the other group was not. The former group did not show a significant decrease in the risk of further heart and stroke problems compared to the latter group. Therefore vitamin supplements have no value in decreasing the risk of heart disease and strokes for individuals.

Which of the following is the best statement of the flaw in the above argument?

A 
The study may not have gone on long enough for the effects to be judged.

B 
There may be other health conditions which vitamin supplements do help control.

C 
Failure to improve a condition is being confused with preventing a condition from developing.

D 
The study does not explain why vitamins fail to control heart disease and stroke.

E 
The study does not consider other possible treatments for heart disease.

6 
There have been a number of studies suggesting that the conditions for workers in call centres are a cause for concern. This style of work is become increasingly characteristic of office work in the 21St century. There is a great deal of stress involved in answering calls and reaching targets set by management for the number of calls answered per hour. However, it is doubtful that the modern call worker is as badly off as the office worker in the late 19th century. In those days, many clerks had to stand at their desks for long hours (management considering chairs an unnecessary luxury), and had to work in extremely bad light which could damage eyesight. So, whilst stressed, the modern call worker can at least sit down and see what they are doing.

Which of the following is the best statement of the main conclusion of the above argument? 
A 
A number of studies suggest that call centres offer poor conditions for their workers.

B 
19th century clerks worked in different conditions from modern call centre workers.

C 
The modern call worker can both sit down and see what they are doing.

D 
Manning phones in call centres is increasingly what office workers do.

E 
The 19th century office worker was probably worse off than modern call workers.

7 
In an attempt to teach neat handwriting, schools in the 1950s and 1960s tried to ban the use of biros and allowed pupils to use only fountain pens. This attitude was unjustifiable and ‘Luddite’, i.e. trying to impede the onward march of technological progress. Just as the fountain pen was an improvement on the quill pen so the biro represented a further improvement in hand-writing tools. Therefore the biro triumphed over the fountain pen in schools because the superiority of the biro as a hand-writing tool had eventually to be conceded.

Which of the following, if true, would most weaken the above argument?

A 
The main reason the biro spread was because it was cheaper than the fountain pen.

B 
Biros were widely used outside the school environment at this time.

C 
Schools did not try to resist the replacement of the quill pen by the fountain pen.

D 
Not all school subjects require the use of hand-writing tools.

E 
Schools encouraged forward-looking attitudes in their pupils at this time.

8 
There are two ways of studying the past, archaeology and history. Archaeologists study ancient civilisations through excavating and examining the objects and buildings that remain. Historians, on the other hand, study more recent societies through the examination of documents from the period that they are interested in. This means that, unlike archaeologists, historians have direct access to the thought processes of the people they are studying as these have been recorded in diaries and other texts written by people at the time. Therefore if you want to study the way people thought, you should choose history.

Which of the following is an underlying assumption of the above argument?

A 
Archaeology and history are the only two ways we can study the past.

B 
Objects and buildings do not reveal peoples’ thought processes.

C 
History is a more valuable form of study than archaeology.

D 
All ancient civilisations have left remains for the archaeologist to study.

E 
All societies have left documents for historians to study.

9 
Recent research has shown that people who have a stammer have a different brain structure from those who do not have a stammer. The former have restricted neurological pathways connecting speech with brain function and this is what causes the stammer. When people are young, steps can be taken to alter the brain’s neurological pathways. This discovery means, therefore, that stammering will be eliminated from the human population in due course.

Which of the following is an underlying assumption of the above argument?

A 
Altering the neurological pathways has already cured people of stammering.

B 
Restricted neurological pathways is accepted as the only explanation for stammering.

C 
The treatment will be available to all stammerers.

D 
Nothing can be done to help adults who suffer from a stammer.

E 
Stammering is not the only condition caused by restricted neurological pathways.

10 
Many of the most brilliant creative artists have died at a young age. For example, the poet Keats died when he was only 25 and the composer Schubert died when he was 31. This suggests that creative genius involves a short life lived intensely and that the price an artist pays for living longer is to be mediocre in their creative output. Salieri might have outlived Mozart but it is the latter’s music that has achieved immortality. Therefore, the enormous strain that creative genius puts on the mind and the body is incompatible with a long life-span.

Which of the following is the best statement of the flaw in the above argument?

A 
It draws a conclusion about creative artists from limited evidence on them.

B 
It fails to consider other forms of genius, e.g. scientific discovery.

C 
It fails to offer an explanation of why genius shortens life-span.

D 
It assumes that all people who live short lives are creative geniuses.

E
It fails to provide a definition of the term ‘creative artist’.

11 
The River Wye is a famous salmon river which flows into the estuary of the River Severn. The number of salmon in the Wye has suffered a significant decline in the last 30 years. Some people have argued that the increase in sheep grazing on its banks has contributed to this decline. Their suggestion is that this causes erosion of the banks which leads to earth falling into the river which interrupts the fast flow which salmon like. However, the number of salmon in the River Severn has also declined to a similar degree. Since there are few sheep grazing along the banks of the Severn, the increase in sheep grazing does not seem to be a factor in explaining the decline of salmon in the Wye.

Which of the following is the best statement of the flaw in the above argument?

A 
It draws a conclusion about the Severn only on the basis of evidence about the Wye.

B 
It fails to provide exact numbers of salmon in the Severn and the Wye.

C 
Its conclusion is a contradiction of a claim the author has made.

D 
It fails to consider that the Severn may have an impeded flow due to other factors.

E 
It fails to provide evidence on the numbers of fish other than salmon in the Severn and the Wye.

12 
In recent years, the RSPCA has taken steps to ban hunt supporters from joining the organisation. This has been an understandable response to attempts by hunt supporters to infiltrate the organisation in large numbers. However, such action is misguided. There is no agreement as to what constitutes cruelty to animals. Some would argue that rearing animals to eat is cruel, others that all forms of horse-riding are cruel. So such action against hunt supporters is the ‘thin end of the wedge’. It sets a precedent for similar action against meat-eaters or horse-riders. If this precedent is exploited, the RSPCA is in danger of becoming an organisation in which only people who hold an extreme ‘animal rights’ position are welcome.

Which of the following is the best statement of the main conclusion of the above argument?

A 
Action by the RSPCA to ban hunt supporters from the organisation is misguided.

B 
Action by the RSPCA to ban hunt supporters could be the ‘thin end of the wedge’.

C 
Action by the RSPCA to ban hunt supporters will lead to it being taken over by extremists.

D 
Action by the RSPCA to ban hunt supporters is in response to their attempts to infiltrate the organisation.

E 
Action by the RSPCA to ban hunt supporters fails to acknowledge a lack of clear definition of cruelty to animals.

13 
The present way we select students to train for medicine is on the basis of their academic performance in A-levels. However, whilst academic ability is crucial, many branches of medicine, such as surgery, require a high level of physical skill. Therefore there should be a practical skill test as part of the selection process for medical students if we want doctors with the best possible levels of medical competence.

Which of the following, if true, would most strengthen the above argument?

A 
Students who wish to become surgeons have to show a high level of practical skill.

B 
Not all present day medical students have the levels of physical skill to become surgeons.

C 
Many health care procedures require physical skills without high levels of academic knowledge.

D 
Theoretical knowledge of the body is best built up through practical exercises such as dissection.

E 
Future demand for surgeons can be predicted with a high degree of accuracy.

14 
The Welfare State cannot provide for all those who want help. Some way of deciding who should get what is needed. The principle of giving only to those who deserve help could be used: for example, giving only to those people who have not broken the law. Another principle is that resources should go only to those who have a right to benefits, for example, as a result of having paid into the National Insurance system. A further way of seeing social justice is give help according to a system of identifying need: people get help if they have no other way of getting by. Each of these approaches has something to commend it. Any reform of the benefits system should use them all.

Which of the following is the best expression of the author’s use of the term ‘social justice’ in the above argument?

A 
how people’s rights to welfare services should be protected

B 
how scarce welfare resources should be distributed

C 
how the Welfare State should be based on legal principles

D 
how welfare resources should be distributed according to people’s needs

E 
how the Welfare State should provide for all those who want help

15 
A recent study suggests that certain diets reduce the level of re-offending by ex-prisoners. Prisoners who had been given a diet that promoted the production in the brain of the mood- changing chemical serotonin were significantly less likely to re-offend than those who had not. Changing the diet of prisoners should make a significant contribution to lessening the degree of re-offending in the future.

Which of the following is an underlying assumption of the above argument?

A 
Diet is the main factor determining the level of serotonin.

B 
Serotonin is the main mood-altering chemical in the brain.

C 
Increased serotonin levels explain the decline in re-offending in the study.

D 
Those prisoners who were not given the serotonin-producing diet had high rates of re-offending.

E 
The diet of prisoners less likely to re-offend was healthier than that of other prisoners.

16 
When people go to literary festivals they hope to get some insight into the writing process through hearing authors talk about their work. However, authors attending such festivals are usually agreeing to appear only because they want to publicise their latest book. There is little or nothing to be gained by hearing an author read from their latest book. After all, would we miss anything by reading a Harry Potter book ourselves rather than have J K Rowling read it to us? Authors are charging fat fees for appearing at literary festivals, but give a poor service in return. The organisers of such festivals need to make clear to invited authors what people actually want from them.

Which of the following is the main conclusion of the above argument?

A 
People who go to literary festivals are likely to be disappointed by what authors do.

B 
Authors who attend literary festivals are not aware of the real reason why people want to listen to them.

C 
Authors reading from their work do not give an insight into the writing process.

D 
Organisers of literary festivals do not make it clear to authors why they have invited them.

E 
Authors invited to literary festivals should be told that people want to hear about the writing process.

